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=1 el 0.038 26 905 6 470
EETL 0.006 4 248 1 022
fngh 0.006 4 248 1 022
JER:UREE A 0.027 19 117 4 597
e E A 0.008 5 664 1 362
)i 0.515 364 633 87 680
ENYEVINIA 0.229 162 138 38 988
£ B AR 0 22 A 0.225 159 306 38 307
EiE A 0.019 13 452 3 235
I 0.013 9 204 2 213
Z1H 0.013 9 204 2 213
WA v i H 0.073 51 686 12 428
HIBW 0.012 8 496 2 043
i /K i W 0.001 708 170
o7 it 44 Y 0.037 26 197 6 299
A2 L 0.032 22 657 5 448
RYACFE 0.063 44 606 10 726
LR BB 0.001 708 170
53R 0.011 7 788 1 873
i 0.002 1 416 341
ol 0.004 2 832 681
JEE v BF 0.056 39 649 9 534
K LE T 0.008 5 664 1 362
Je HF v 0.075 53 102 12 769
A 0.079 55 934 13 450
(R 0.021 14 869 3 575
e A= 0.007 4 956 1 192
e 0.087 61 598 14 812

R E 0.087 61 598 14 812
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X e REE L) 64.706% 1T
- Y % . "
J% i/ﬁo/tl:i 512 B FH S e
0
Y + FIT

b = 0.798 565 004 135 861
B IR % LI AN 0.002 1 416 341
LR 0.171 121 072 29 113
FERYET 0.036 25 489 6 129
W& 0.137 96 999 23 325
[F2E[3 0.371 262 677 63 164
B2k 0.018 12 744 3 065
Ri] a7 AH B 3P 0[] 0.024 16 993 4 086
praa e | 0.002 1 416 341
&I 0.201 142 313 34 221
(IR B R B TS| 0.007 4 956 1192
YR 0.029 20 533 4 937
+HKE 0.595 421 275 101 300
JEN 0.084 59 474 14 301
124 3] v i 0.010 7 080 1 703
T2 BB LR H AT [ 0.303 214 531 51 586
A 0.003 2 124 511

2 3 8.428 5 967 228 1 434 890
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[ "= %" KRERNSEE
¥ LE 2 1760.000% T
HAEH & o "
15 ifﬁo/tt;i LR B 5 S A0
0 . .
MRt + eV

Ko & v (7 2y 24 SR [ 0.004 2 626 631
‘G AL 0.010 6 565 1 579
oyl IEAES| 0.010 6 565 1 579
e 0.003 1 970 474
iFL gL R 0.003 1 970 474
i e 0.001 657 158
DR % 0.003 1 970 474
RN [ 0.001 657 158
Ef5 0.002 1 313 316
M) SR [ == e A ] 0.003 1 970 474
JEA AR R 0.001 657 158
BRIEM LT 0.008 5 252 1 263
e 0.003 1 970 474
) B B 0.001 657 158
R 0.001 657 158
3k pn i 0.003 1 970 474
Iy Ry 2f 0.001 657 158
0 0.003 1 970 474
F e AR 22 SR [ 0.001 657 158
T 0.003 1 970 474
i ) 0.006 3 939 947
JETAR 0.006 3 939 947
JEYIETAIN 0.003 1 970 474
Je H/R 0.002 1 313 316
FEP IR 0.006 3 939 947
FER A B 0.001 657 158
pivas 0.010 6 565 1 579
BTk 0.006 3 939 947
WS e WA L ATE 0.008 5 252 1 263
B R 0.032 21 009 5 052
1] 0.010 6 565 1 579
B 0.004 2 626 631
2 it 0.159 104 393 25 106
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= 7
LR PRI 8 43 Z2 A0 o0 P
A % % KRG + 25T
(1) 2) (3) 4)

K 1.863 2.27798 2 159 115 519 183
P A 0.820 1.00265 950 332 228 518
aaiing 1.036 1.26677 1 200 670 288 714
JIEWN 3.091 3.77951 3 582 295 861 402
FETH 0.044 0.05380 50 993 12 262
P& 0.709 0.86693 821 694 197 585
75 0.546 0.66762 632 784 152 160
i 5.902 7.21666 6 840 095 1 644 775
it [5] 7.728 9.44940 8 956 331 2 153 647
Huk 0.001 0.00122 1 156 278
Ky 0.040 0.04891 46 358 11 147
HIRE 0.480 0.58692 556 295 133 767
PLEa T 0.370 0.45242 428 813 103 113
=N 4.818 5.89120 5 583 798 1 342 685
HAR 12.078 14.76835 13 997 738 3 365 909
BHEE 0.253 0.30936 293 218 70 507
YA 0.009 0.01100 10 426 2 507
PR 0.087 0.10638 100 829 24 245
JBE 4 5F 0.003 0.00367 3 478 836
faf 2% 1.788 2.18627 2 072 191 498 281
== 0.263 0.32158 304 800 73 292
£ 1951 0.839 1.02589 972 359 233 814
KR 0.130 0.15896 150 665 36 229
RS e 1.544 1.88792 1 789 408 430 283
B 0.323 0.39495 374 342 90 014
Hrig e P 0.099 0.12105 114 734 27 589
PHEEF 3.062 3.74405 3 548 686 853 320
Fify it 1.026 1.25454 1 189 078 285 927
it 1.089 1.33157 1 262 089 303 483
Rl o7 A Bk 2 K [ 0.377 0.46098 436 926 105 064
RAFE e AL = /R =B E £ 6.365 7.78279 7 376 684 1 773 804
PRI AR 25.000 30.56870 28 973 626 6 967 025

2 3 81.783 100.00000 94 782 006 22 791 365
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